Chapter 8 Trigonometry
fsa=fuset
f3dE fH3E MigU™s (Trigonometric Ratios)
cosecO = L i.e.sin@.cosecf =1
sin 6
sec@ =1 i.e.cos0.secO =1
cosfO

cot@ = i.e.tanf.cotd =1
tan 0

sin@ cosO

tan0 = —, cot = —
cosO’ sin@

2. faa=fHz=t YIS MU (Trigonometric Complementary Ratios)
sinf = cos (90 — 0)
cos0 = sin (90— 0)
tanf = cot (90 — 0)
cotf = tan (90 — 0)
secO = cosec(90 — 0)
cosecO = sec (90 — 0)
3. fBB(Eﬁ-BErT 29% (Trigonometric Table)
0°

sin@ 0
cosO

\ 4

tan0 =

sin60° = g cos45° = f, tan45° =

4. fzasfi3st AggAHs=T (Trigonometric Identities)
e sin’0+cos?’6=1
e sec’0—tan’6 =1

e cosec’0—cot’0=1

H sinA = sinB,cos A = cosB,tanA = tanB 3t A= B

(32 7 f33EH3TT nigu™s 9999 3t 9= <t 99799)  i.e. If T-Ratios are equal then angles are also equal.
H sindA = cosB,tanA = cotB,secA = cosecB3T A+ B = 90°,

3T # f3aefisEt nigus yga dT 3t d < yIx 9T T5 |

i.e. If T-Ratios are complementary then angles are also complementary.
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d) cosec@

sin6
cosO.secO =

b) 2

b) cot6

f&3 f939 <9 cosO = In the given figure, cos@ =
5 i 18 g i
13 12 13

&3 f939 fe8 tand = Inthe given figure, tand =

3 4

APQR 35 Q = 90°,PQ = 6cm, PR = 10cm 37 cotR =
InAPQR,Q = 90°,PQ = 6 cm,PR = 10 cmthen cotR =

4 4

&3 937 129 cos?0 + sin?0 = In given figure, cos%0 + sin?0 =

0 b) 1 ) -1 d) 2 !

AABCTSg, zB=90° 7 tanA =13 37 sinA= InAABC, 2B = 90°,If tanA = 1 then sind =
b) V2 d) 3

. ¥ cosA = cosB T 3t
A+ B = 90° b) A+ B =180° c) A—B=90°

. tan30° =

1
NG b) V3




12.

a)

13.

a)

14.ﬁcosA:§%3fA=

a)

15. 7 cot0 =13 3t 9 =

a)

16. 7 secf =23 30 =

a)

17.

a)

18.

a)

19.

a)

20.

a)

21.

a)

22.

a)

23.

a)

24. 7 tanA=cotBI 3T A+ B =

a)

sec45° =

2
b) =

cosec?60° — cot’60° =

-1

30°

30°

00

AABCfE8 «B = 90°,AB=5cm ™3 LACB = 30° J 3t BC =
c) 10/3 cm

5cm

APQR ¥ 20 =90°,PQ =3 cm ™3 PR =6 cm J 3t LPRQ =

30°

2tan30°
1+tan230°
sin60°

1-tan?45° .
1+tan245°
tan90°

sin2A = 2sinA8e He Jur J, Ae A =

00

2tan30°
1-tan?30°
cos60°

b) O

b) 45°

b) 45°

b) 30°

b) 5v/3 cm

b) 45°

b) cos60°

b) tan45°

b) 30°

b) sin60°

H sin® = cos@ I 3t 0 =

00

30°

b) 30°

b) 45°

c) 2

o1

c) 60°

c) 60°

c) 45°

c) 60°

c) tan60°

c) sin45°

c) 45°

c) tan60°

c) 45°

IftanA = cotB then A+ B =

c) 60°

d) V2

d) 2

d) 90°

d) 0°

d) 60°

d) 10cm

d) 90°

d) sin30°

d) tan0°

d) 60°

d) sin30°

d) 60°

d) 90°



25.

a)

26.

a)

27.

a)

28.

a)

29. 7 tan2A = cot (A—18°) I 3T A =

a)

30.

a)

31.

a)

32.

a)

33.

a)

34,

a)

35.

a)

36.

a)

37.

sin(90 — 0) =

cosec@ b) cos@
tan65°

cot25°

1 b) —1

sin40° — cos50° =
1 b) —1

cosec31° — sec59° =
1 b) 28°
36° b) 18°

H sin34 = cos (A—26°) I 3t A=
31° b) 29°

¥ sec4A = cosec(A—20°) 3t A =
24° b) 26°

sin?63° + sin?27°
c0s217° + cos273°

0 b) 2

9sec’A — 9tan’A =

1 b) 9
1+tan?A .

1+cot?A

sec’A b) -1

sin25°.c0s65° + c0s25°.sin65° =

1 b) 0
tanA =
sinA b) sinA
1+sin2A 1-sin2A
cosecO =
1 1
b)

1-cos26 V1+cos?6

c) sin90 — siné

o0

c)O0

c) —28°

c) 34°

c) 28°

c) 22°

c) -2

c) 8

c) cot?A

c) 2

V1-sin?A

sinA

cosO

1-cos20

d) tané

d) 2

d) 10°

d) 0

d) 28°

d) 26°

d) 28°

d 1

d) 0

d) tan’4A

d) -1

V1+sin2A

sinA

d)

cos6

d) V1+cos260




38. 5cot?0 — 5cosec?0 =
a) 5

b) 1

c) -1

39. Jot foftmrt fe8° fx03T sind = W& adt I AKET 97

Which of the following cannot be value of sin@?

12
a) E

1
b) =

40. fg39 9 tanP — cotR =

a) 1

12
b) e

V3
C)?

In figure, tanP — cotR =
c)O0

d) -5
d 1
P,
-5 5
d) 'Y




